]|~ 228

RO




1 /8 &

WHF1404E 6 H
WEAI494 2 H
WAF1494E 3 H
PR 5 4E 4 1
P 6 4 4 H

7

PR134E 4 H

PR 144 4 H

P74 4
FR184E 4 1
PR234FE 4 H
PR274E 4 1

PRi294 4 J

2 H %

— k&

i —

ANEACXHIE T H 7 % 15 Oz # H A s e (2 fir AL JE i i i
JeILH BRI TE I I S A A

P Hrit—T H 23 1 52 Eisns

TRAE)R 2> & B R~ E A AL

AETH BRI JE I I S A PR AL TR

A WEEERIM 2 ARl & U B SRS BRIE B AR & Al
77 TgE R v 5 — 2 e NI AR

TN TSR R A B L R TAAFTERE & O MHERI 4G
(MBS ERHNGE IR Y ~PRi184E)

o AR BRBE B bR 2 B R R RS

(RSB 2 — V7 2 2 G OERBEAHARE LTHIL)
HBs R R 0% 2 RABREGRICOR &

RABREGR MEBRBGR R O T 7 THigE v ¥ —o—i & A LBRENIZER & % iE

T 7 TS vy — e LU LR E BB LA A
MRS IS & 0 BREEAFFERR 2 B 1k

MURCCIE S & ) BRI SLAR BRI R A 8 & 72 %

H AL AR 2 A

T EALAE AR & R M 2 B 70 O PRABARAL R 1 i A2 3
HUFRCELS & 0 BRI R T 2 5 | PRI BRI JE T (2 A B B
Foanfi AT 2 A H ORI AR 2 BRI AR SRS

—% B & (24)
CHERS. TEEH. MkoMERES
(F%24)

— W w1 (64)
<R - AV AZEET S, AT
(MREE 2 %, 3144, EW24. BmE(ks14)

—{ R L ¥ M| (344)

TS FEEFIR S B, AR
(k% 3 %)

— iR (4 4)

TN £ o e
bz 1 4. BREE 344)

)

B gE Y R ——{ B 3% % M| (84

- BRI ATICB T B AT, AR
(L6 4. EFE14, RELE1H)

CPR294 4 H25H 3i4E)



3 REHH

£ wr | omm o B | e
S N % 4,628 459 277 736 692 3,200
223 1T BUAR H1 4,112 351 142 493 533 3,086
e e | s6 | 108 | 15| us | s | 4
T . ® 4,039 713 214 927 623 2,489
%Zl 1T BUAK A 3,692 571 160 731 477 2,484
e wmemr | s | | si| 6 | s | 5|
D12 % ® 3,210 191 140 331 522 2,357
ZzB 7 BUAK 3,102 176 118 294 456 2,352
e wemr | s 15| = | s 6| 5
1A 58 044 3,870 215 213 428 450 2,992
226 AT BUAK 8 3,462 179 183 362 380 2,720
e wmemr |- ws | s | 6| 0| 272 |
S & % 3,608 204 211 415 350 2,843
% Ren | ses ||l s | AR
) w0 | s | ul| 5| o 52 |
S & 044 4,167 135 263 398 352 3417
5;8 CfmEcks | ss | 7| o | o | 00 | 323
% mmx | | | 6| s @ 7




4 RE - FEHE

(F-19)

I AR 2T AR E R 284F FE R 294 BE

- e o e o o &
ML AR ) — AFE 20,376 24,508 27,030
A2 B B A f 3 1,728 1618 2144
el T3 9,606 0 51,900
It DMEFHE PR 1,736 1,192 2046
F7 8 OHEFRFIIE T PR IR T 35,916 36,985 43,881
A B R 2 3 3621 2,982 2597
G L PxJIgis 1,720 967 3943
ZRL gk 4,101 3218 6,199
i B Ak e L= 0 0 0
&t 78,804 71470 139,740

MKPH - PEICIE, A AT S OF B ARIE A AR CPIE284E FEREFE T TR ) O T i3 & T

/AT




5 IMHERERINR

CFR294 3 H KBAE)
o F o MM m % S B F
GC FID HP6890
. FPD HP5890
B Agilent 6890/5973
GC./MS Agilent 7890B/5977A
Shimadzu GC-2010 2 25 35 A 3 & )
%ﬂgd/:%?% %%g;\;;gﬁx 7= Entech7100A-A gilent6890N/5975
gL FAXR—=Z-GC/MS 12031HSA/JMS-Q1050GC
HPLC Shimadzu Prominence LC-20A
Agilent 7500ce
LC/1CP/MS Agilent 7800
JE WG 1E Varian SpectrAA 220
N R SR BT R 1. Sunset Lab Analyzer
iR E ALK NIC RA-3A
AFrrux 777 DIONEX ICS-1600
AR R e S Shimadzu TOC-V CSH
RN ERE TCI NOX1000
<A 7 aEAu#E s A7 24 | CEM MARS 5
2N 7'{3:1‘2]‘
" g 2y JMS 6390LA
Gy B E — 2~ ECLIPSE 80i
GC | ECD-NPD Agilent 6890N
e | GCMS EEEERT QP2010 Ultra
] Agilent 6890N 5973MSD- PU i A fif] 5 %Y
| GC/MS /MS Agilent 7000B — F V) 7 LI EHi GC/MS
it | LC/MS/MS Waters ACQUITY ™/Quattro premier XE
= LC/MS MS Agilent 6460LC/MS/MS
A DAD (PDA) Agilent 1100series
m | HPLC | DAD (PDA) + FL | Agilent 1100series
DAD (PDA) + FL | Agilent 1200series
GPCZVY—rT7 v THE G — PREP GPC8,100 Single ¥ A 7 A
275 2 W B - PR sk H AT 7 JEM1200EX
" 350 0 B BR H iz CP70G
1 HT 7500FAST
V7V A4 ALAPCR HT 7900FAST
H = Y- ABI 3130XL
INIVAT 4 =)V
" LK E BIO RAD CHEF-DR II
AW SR — 2 ¥ ECLIPSE 80i
~Ar7uSL—F)—F— NA F 7 v 7 ImmunoMini NJ — 2300
B AB Veriti 100
Y=< Ag 7T — ABI Veriti 200
] BIO RAD C1000 Touch

1 Bl ] AR A 2

SYSMEX VITEX?2 Compact

R A S e

QIA cube PREMIUM QCPRM

#1007 FIPL_E o Bk 2 85 3%




R
(b, AL
. L)
BREEFHAAE 3 BEIER SR 1
£q FeERE
B
: X
B| mE | a
AL BOHER
£ B = 1
aox| WC | [wes]  mee BV JAc=m Acs [xan |  [Blwc]meBg[ev]  [acz
s | E B e
AT T E e
(HEH) BEERL 45 2
L
RBEHA= b
FAEEAN—Z wl
M ATRE
Jif GC/ MS=%
=& =
i | B
LE 5 K
4|3ra P
W% e
7 A IV A
e
BARREA 4 AL MBS bt x
s g f Y. Pu > ?
FEERE o1 FEERE Bt
A0 .
P3FZEREE S RCYUR
o e I P R
ACH é "E wam WC| BB |EV ACH% ACES | whhi s | WC | R ER |[EV ACE:
AL B SR i -
P AT Jr¥i & 1
LC/MS ﬁfﬂi1t$ %
BT 5 2 B . 7
e A4 Al R -
PRSI g pes gebpss| Mok | P
Ej » = N




